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CBT Sample assessment model answers

Personal Tax (PLTX) FA2016

Sample assessment 2



Task 1 (10 marks)
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Task 1, continued
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Task 2 (8 marks)
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Task 3 (8 marks)
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Task 4 (6 marks)

[image: ]Rounding – Text box 3

This model answer shows the figure rounded down. However, figures rounded up are equally valid for the purposes of this assessment.





Task 5 (6 marks)
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Task 6 (12 marks)

[image: ]

[image: ]
Rounding

This model answer shows the figures rounded down, where applicable. However, figures rounded up are equally valid for the purposes of this assessment.

Task 6, continued
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Task 7 (4 marks)
Rounding – Text box 1

This model answer shows the figure rounded down. However, a figure rounded up is equally valid for the purposes of this assessment.
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Task 8 (7 marks)
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Task 9 (10 marks)
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Task 10 (10 marks)
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Task 10, continued
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Task 11 (7 marks)
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Task 12 (6 marks)
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Task 13 (6 marks)
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Tax evasion

[Tax evasion is illegal andif you are found guilty, you may face penalties under civ or criminal law.

Tax evasion resuits in an under- or non-payment of taxes usually as a result of a false, inaccurate
declaration orindeed making no declaration at al

An example would be where a person has multiple businesses but dclares only some of these.
businesses or a business may deflate income or inflate expenses to reduce the amount taxable.
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(a) Complete the table below to calculate the assessable benefit in kind for Car Z for
2016/47. Show your monetary answers in whole pounds only. 6 marks)

The scale charge percentage B
Tarable beneft on the provision ofthe car 27,380)
Tarable beneft on the provision ofuel 8214
Totaltaxable benefit 35,504

(b) Complete the following sentences in relation to James's benefitn kind for 2016/17. (2 marks)

If James had not made an annual contribution of £120 towards the cost of private fuel and had,

instead, increased his capital contribution to £6,120 towards the cost ofthe car, this would have

[made no aiference 1o JJudl] James's assessable benefitin kind for 2016/17.

fthe employer had paid only £60,000 instead of £62,000 for Car Z, this would have

[made no aiference 1o JJudl] James's assessable benefitin kind for 2016/17.
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Complete the table below to calculate Foday's total employment income for 2016/17.
Ifyour answer is zero, enter ‘0", Enter your answers to the nearest whole pound. 8 marks)

Employmentincome 19,000|
Staff parties 100
Incidental expenses o
Beneficial loans o
Childcare vouchers 260)
Total employment income. 19,360)
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Calculate the tax payable by Samuel on his investment income by completing the table.
below. If your answer is zero, enter ‘0", Enter your answer to the nearest whole pound. 6 marks)

Interest from bank and building society accounts. 440

Interest from an ISA account 0

Dvidends 387
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Complete the table below to show the netincome chargeable to tax for each of the
‘properties for the tax year 2016/17. Enter your answers to the nearest whole pound. (6 marks)

Property
29 Main Road 3,100
35 London Street 3,150

4 Green Diive 5930
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Calculate both Jonas's and James's total income tax liabilities for 2016/17, entering your
answer and workings into the blank table below.

Enter your answer to the nearest whole pound.
You have been given more space than you will need. (12 marks)
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Jonas

Workings: E
income from employment 49,000)
[Profis from property 15,000)
Interest 1,700)
[Dividends, 11,700)
[Personal allowance (11,000)|
[TAXABLE INCOME 66.400)
[Basicrate; £32,000x20% 6.400)
lHigher rate: £21,000x40% 8,400
|savings: £500x 0% o
[savings: £1200x40% 480)
[Dividends: £5,000x0% o
IDividends: 26,700 32.5% 2,477

17,457
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James

Workings E
income from employment 14,000)
Income from pension: 8,500
Interest 1.750)
Dividends: 2,250
Personal allowance: (11,000)|
TAXABLE INCOME: 15,500)
Basic rate £11,500x20% 230000
Savings: £1000x0% 0.00)
Savings: £750x20% 150.00]
Diidenas: 22,250 0% 0.00)

245000
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Complete the following sentences by placing your answer, to the nearest whole pound, in the
boxes provided. If your answer is zero, enter ‘0", (4 marks)

The total Class 1 National Insurance contributions payable by Joan in 2016/17 are:

< [o52

The total employer Class 1 National Insurance contributions payable in 2016/17 are:

< [o
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Identify the effect on Ben's taxable income in 2016/17 if he had made each of the following
changes. Assume that each of the seven changes are the only change that Ben makes to the
situation as detailed above. (7 marks)

IfBen had paid £10 per month to his employer towards the cost of
private fuel instead of towards the use of his car.

1fBen had paid £25 per month to cover the cost of private fuel

1fBen had repaid the £2,000 offthe second loan one week earlier

[SHSHS

IfBen had paid 1% interestto his employer on the second loan.

1 Ben had claimed £5 instead of £10 in incidental expenses on the third.
night away from home.

IfBen had invested £5,000 from his building society account into
‘anewinterest bearing bank account.

IfBen had reduced his investment in his building society by £5,000
butinvested this instead as the only payment into an ISA account in the
2016/17 taxyear.
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(a) Calculate the amount chargeable to capital gains tax (CGT) in the 2016/17 tax year and
insert your answer in the table below. If your answer is zero, enter ‘0",

Jas sold his principal house. He owned the house for
100 months but bought a new apartment 12 months
House 30 May 2016 before he sold the house. The apartment became his 0
principal residence as soon as he bought it The

house cost Jas £120,000 and he sold it for £395,000.

Jas sold his car as he was aboutto recenve

Ccar 20 June 2016 ‘company car The car cost Jas £16,400 and he sold it 0
to a neighbour for £17,000.
Jas boughta watercolour painting at an auction for

Panting | 100ctoper201g | £4.000- He pald 29 auctoness fees Jas paid 2020

£500 to restore the painting and sold itto an unknown
buyer in a private sale for £8,500.

‘The table was bought by Jas for £4,750 and he sold it

Antique table | 12 December2016. | "= {S71E e ROEH 500
Jas boughta small piece of land five years ago for
Land 12March 2017 | £15,000. Atthe time of the sale itwas worth £17,500. 2500

Jas soldthe land o his father for £4,000
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(b) Calculate the gain on the sale of the land. Show your answer to the nearest whole pound. (2 marks)

£ [4a900
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(a) Clearly showing the balance of shares and their value to carry forward, calculate the.
gain Mahesh made on the sale of the shares for 2016/17.

All workings must be shown in your calculations. 8 marks)
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Shares, Coste]
[13 May 2012 [Purchase 1,000 10,000
[12 December 2013 [Bonus issue 100 o
1,100 10,000
[10 September 2014 Disposal (55)| (500)]
1,045| 9,500
[25 April 2015 [Purcnase 59| 6,545|
1640 16,045|
[10 April 2016 Disposal (330)] (3:229)]
|share pool balance to cf 1310 12816
016117 gain
[Proceeds 330x20 6,600
|cost 3229
[cain 3371
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(b) Calculate the gain Mahesh would have made if he had made this additional purchase on

30 April 2016.
All workings must be shown in your calculations. 2 marks}

[Amendea gain 2|

lProceeds: [330x20 6,600

[Cost |330x15) (4,950)]

lcain 1,650
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(a) Calculate the amount of capital gains tax payable by Precious assuming she is a basic.
rate taxpayer.

Your answer must be in whole pounds only. If your answer is zero, enter 0'. (2 marks)

‘The amount of capital gains tax payable by Preciousis £ [s23

(b) Identify whether the following statement s true or false. (1 mark)

Tatpayes illnavet pay el 201517 captal gin tax iy by 31 Januany 201,
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(c) Complete the following sentences by inserting the answers in the boxes provided.
Your answer must be in whole pounds only. If your answer is zero, enter 0'.

The amount that Thomas will have to pay capital gains tax onin 201617 is £ [0

The amount of losses (fany) Thomas can cary forwardto the 2017/18 taxyearis £ [7.000

(4 marks)
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Complete the table to show whether each of the gifts below is a chargeable lifetime transfer
(CLT), an exempt transfer (ET) or a potential exempt transfer (PET).

20 May 2014 Cashgitt

6 April 2015 Cashgitt
10July 2015 Wedding gift given on the day of Marha's wedding
30 August2016 | Holiday home in Spain

10 September 2016 | Cash giftfor Martha's birthday

25 December 2016 | Family jewelery as a Christmas present
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2012y 2014 casngit
6 Aprl 2015 casngn |
10Juy 2015 Wedding git gven on the day of Warta's wedding P |
30 August2016 | Haliday home in Spain soofe__ ol
10 September 2016 | Cash gt for Hartha's birtoay P |
25 December 2016 | Famiy jewelery s a Christmas present wez00fEr ol

End of Task
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(a) Calculate the inheritance tax payable by Emily on Stanley's gift at the time of his death,
entering your answer and workings into the blank space below. (4 marks)

Emi
241,000 - £6,000 = £335.000
235,000 - £225,000 =£10.000
10,000 x40% = 24,000

24,000 x20% = £800

(b) Calculate the inheritance tax payable on Stanley's estate, entering your answer and
‘workings into the blank space below. 2 marks)

[Stanleys estate:

300,000 x 40% = £120,000
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Explain the following three terms and give an example of each of them to help DBQ's.
clients understand the difference between them. (10 marks)

Tax planning

[Taxplanning should involve the payment ofthe correct amount of tax (but no more), when itis due and
following the spirt of the law (ie being tax compliant).

[Tax planning involves the taxpayer using lawful provisions when calculating their tax iabiliy. An example.
would be where a taxpayer declares property income and uses all available tax llowances in the
[computation of tax payable.

[The main difference between tax planning and tax avoidance actities is the intent of the taxpayer. In tax
planning the taxpayer seeks to pay the correct amount of tax (albeit the lowest amount possible)

[whereas tax avoidance seeks to exploit unintended loopholes or conflicts in diferent tax laws to avoid
paying the correct amount oftax.
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‘Tax avoidance

[Taxavoidance is seekingto legally minimise a tax liabiit. However, s in a way not intended by
[Partiament When challenged, many high profile organisations make a public statement that They have
[complied with the Iaw' and this they have even though they have worked against the spiritof the law by
[sometimes diverting monies to countries with more advantageous tax rates. This may be termed
exploiting loopholes in the law for their own advantage — e to reduce their tax liabilt.





